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Q.No: 1 AT # & $H-wh a5 ARy ¥ forret vt IRt wiwdt il & fasr ¥g faran i §2
A SR fafdy
B e fafy
o TR fafdy
D e fafy
Correct Ans : A
Subject : Hindi Bhasha 02
Q.No: 2 fmfafea & ¥ R e A BI-3 ke qur ot s@er ot ol 32
A P iftyaafa Y
B qifa afdad st
c wreard fftvenfa B
D T B
Correct Ans : A
Subject : Hindi Bhasha 02
Q.No: 3 Ffafed & I umr-Rigr & o Sierel & 9 ofg A vy i w1 Repor s Afge?
A for
B die
c kil
D g
Correct Ans : A
Subject : Hindi Bhasha 02
Q.No: 4 fIwra St 7 WA B areh Ufsbd §; T8 fIER Frafafed 3 & e Jdfia g2
A feepor =1 Rrgiia
B STaRIBar &1 g
c frdaran &1 fRrgia
D Tew o1 Rl
Correct Ans : C
Subject : Hindi Bhasha 02
Q.No: 5 ffifad # ¥ g ae & fam A9 32
A S
B Q
Cc EH
D G316}
Correct Ans : B
Subject : Hindi Bhasha 02
Q.No: 6 fmffed # & vg Rrem & R wresd yoment &1 iy fem fosar ar?
A _— Page - 1
B Hiewdt
c AivET
D TS
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i if==y Veimi= 1 ¥R g g I N O N A A N e A A R AT AR e O e ™ W T e ™ W) R BT T Tm RO ERRE T 0 e
Correct Ans : B
Subject : Hindi Bhasha 02

Q.No: 7 frfafa & & -3t gea-Rieor = @1 ey 2

A 36 fiFe
B 46 fire
C 56 firFe
D 66 fir

Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 8 F=fafaa & & avf f5d ed 82

A foit uTer @1 Ty weiE @t B
B forft aamen & eifcm el

c fadt oft T F @ @A FN

D ST 31&RY P

Correct Ans : A

Subject : Hindi Bhasha 02

Q.No: 9 1= & ) Waq Td same gedie R wudl FU § 90 f5ad gr far mr 32
A TS AR SRR FRT

B ST SN G

c RTURAA ST BRI

D TEIRRR HIANT gRT

Correct Ans : D

Subject : Hindi Bhasha 02

Q.No: 10 = 9 foru fafy & Ryeror oftery uftear &) & &Y <1 Iar Rk egua far o ebar g2
A wifm PR sreme fafy

B a7 fasht
C Srgev fad
D 3geRH fadt

Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 11 fmfafea § § graam wiui & mem 3 Rigia swar adl & wdie ot il -8 &2

A are fadht
B e Rk
C e fah
D yex fafy

Correct Ans : D
Subject : Hindi Bhasha 02

Q.No: 12 a5 Reror fafty § Rl § sremue R o% Wt fasmg draar wd SRkl 3 2@ § w-g & )/
A g fash

B yrAur fadht

c A faeht

D < Rigor fafy

Correct Ans : D
Subject : Hindi Bhasha 02

Q.No: 13 B & #@ur d oRa § GAGd BT, T§ dail Sia B TRl B3] U4 a1 1 H g S F1 96 5l
A YaerE SN Yy

B T fafy

C focim fafy
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D T fafy
Correct Ans : A
Subject : Hindi Bhasha 02

Q.No: 14 ffafde & 4 ger-Riem & fig @ smaza® 78 82

A & 3R YAl T Y T
B Rieor Bt TaEfy 7@ T S
C TIF U6 § G S T
D SfafsbaT TR F M

Correct Ans : B
Subject : Hindi Bhasha 02

Q.No: 15 Rl oft 51l Hie ) R F Rig AU BT iR B BRA 2, 5GP wemw ¥
A HRYT ST fafr

B A fafy

o Trore fafdy

D e fafy

Correct Ans : A

Subject : Hindi Bhasha 02

Passage:

e 2 Ry e iR @) vgaR g@ T e & el i Ser ard fawed &1 99 -

WHSTeRY 3R SINIRAIE & 39 uRaw # g, Sigplie 3k Wrife 9 Rred) o1 28! € ik QX Rixa A aomes 9w%pli @) s T o 38t 8, i U Jollardt wieplie amifom
el & yrRaRes are-Ae Wi e ¥ R yEen-dl o1 o O el f ¥ T 2 37 el ¥ did TR & R yukides cOeT THHE ToR S 6T R | §R i 9w g
$ ugq M & fayrH o R R S @1 81

T &1 3foer doliardt @ € O ST 81 SI-07 doliaest WRam W dg T, Wi-f fame o7 ey off S1gAT 3T srear w34 fammae SR, iy, fom mmon, Y, e, enfe &
FHR Fd U SR OB 3 gl 31 SN Hifd I dax adum Y-l a6 et Yt Fufas W ) slaer el § 75 5 & & anffes, ammfeies, Iemide g Sikplos SIFA-ua
H RO ofte B avE TYTd BiaT Y61 81 ST U TR War & e St 9 gera 3 # famme w@d v nieifrargul S s o <61 € 9iR 59 R orur # ol 9 url 9t oRe sern
T8, S U H gl 3 i +ff T o 3 T 3o € T fva 3 ot po il F Rived o1 W ¥, 359 A @ 9 SEi @ 3t Harag +f 9 W6 § oiR P wey ot 3 uid
T oA R fwadt o X8 81 e worgdh 31 Rufa 1 o e 8 8T 9= T o & AT B P YR ¥ REi 3 Upla i ues 36 7, S T § S Sl SiRpfud S ot
et o X 71 o RwraRiia & F onffe feston, iR frimfaar @ur I=ia Ted W T ST 96T W 361 81 i IR g Iug @ & u ok i, sifie, ior onfg &
I~ IR oIt gt R Rimed! o 3@ §1 W ¥, 6ie iew dr g dh

Q.No: 16 Iwigd e ¥ frw F & & Sfra xfew &1 957 Fifve-
A FOIRAIG & TRaw

B AN Ol s ik g

o TR 1 SR

D e TRl @t Rufa

Correct Ans : B

Subject : Hindi Bhasha 02

Passage:

g - faT U IRy &Y Ugak YUY T URAl & el Sid Iar a1 fawed &1 99 Siforg-

YHSTHR SR SIRAG P 59 TRAW T AR, Fieplad SR diifes Wa Riged) ST § 6k R faza 3 o WRepla 1 wig e o @ 8, B T doliard aiepfs qmoe
GRS # URERS -89 RIMT 61 & o ga-1-d:i &1 thara of ol €7 8 7 2 37 gEAmel & Jd TR & O vurides aeT THHEE ToR i1 36T 3—RA | 8 e 9% HRiear
3 uga M H faqee oo feeara R 91 @1 31

famme w1 3faer Gollar ¥ & = gar 31 - Gellarget WRam W g 11, |- fage &1 @y o SIuer 9T agedl Tl o1 famme 9ifsT, i, o wpgor, e, aresf, onfe @
TR B §U SRAT TP 3T U1 ¥ SRS hifa § AR oA Jai-shifa a0 ga@! yfie! Fufas w31 sfaem weh § 5 5 3w & onffe, oo, Iomfoe 7 SReiis S/M-Ta
H fagToe oRE &1 TR T QT 361 ¢ S U TRW Wodiiar I WY el &t Sgral & § faqo T ue nfaaiRiargel ST avar o 39T § ol 39 o orgurd ® ol &) U 3 oRe Semn
T 35T B, SN U H awgeil 3t wimd off wedt o %6 ¥ 3o & e Rz ot Ioit oo gt ® Rmedt o1 W@ R, S Aw @l o e T @) saag i 96 W R iR e ae ol & uidt
qd i PR Raedt o1 @ 31 R wogd o Rufa &1 df e @ 12 I mer 7 F dnif R TR § e o Sl 7 uee 3@ 7, S 1l § SAet sl aikgiie il of
Tt o %E 71 ot fawresiia oxif & onfife Rresm, wmifve fawmfaal qur It Tehdl R Gk 31 S5 T8 36T ¢ | Tayd IR ghaurt s antt & e ofk e, sifign, S onfg &
IO I HoT gl TR Rmed) o 8 1 e g, ke ffe v d

Q.No: 17 Iwfa Telie F SgaR FH F § SH-7 Hu e 82
A R R T SR S 0gE S 3 R 1 e R a8
B R 1 e doiiarl ¥ € g Siar ¢ Sai-wt Yollarel e W =g 1, - Ao o1 ey o S ST Sewar

C 3 faerasiia 3= F onfie fUzeion, I ot auT I THar R Gk 31 SIed Hewl 61 21
D
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Correct Ans : D
Subject : Hindi Bhasha 02

Passage:
= R T T T S dgek g T URAl & e 3R SaR 9 fawed &1 999 Sifn-

AHEHERU IR AIRATE F 59 URAT F T, gl SR iR W Rred o1 @ § ok @ Rizg & SR SR @ o Teai o <6 2, AR O deard wieplie e
RSl & IR d1a-8d R 37 & R G-t o e O @t § ¥ T 7 37 el & did TR & e puidaes a1 TEEE ToR S 71§99 | 8 A 9% gRiad
9 ugd M H fagrH U o g 81 w1 81

fommo a1 e gollardt ¥ € Y= giar 81 S9i-t Yeiiaige! WRaM W ggal 41, Ti-af AT &1 ey W SiuEr 3T sewar Tl o1 famme 9, i, o g, e, grexi, onfe ¥
IR FA U IR @ o g 31 N wifd I da afom E-wil g st yfire Pufas @ 81 sfier el § & Bl 3 & anfes, wmifers, Iomide @ wikefie SuF-ua
# IR0 3R &) ORE TgEd Sl %81 ) S U R rlifTaT & O S ) gorat 3 & fam e ve feafrargef et ar o @1 € o) 9 O argurd & e &) Uil 1 eRe Sern
T R, S orgura 7 aegell Y i of wgelt o ) €1 S € 1 e o Ooft o relt A Rimredht o1 <@ 3, I Hen ol B S 9 9 Farae off 5 € o) P g ol F didi
A T PR Rt o <@t 81 e weigdl ot Ry 1 df ween & w1 3w wen o F it B R TR 9§ R ot dwpia 7 ues 3@ 7, S i 3 et s wRefie s o
Tt S & 71 3t faeraia 3t A snfifes o, wmifve faumfaar aur It uwar R @R 1 S5 HeRT 35T | gaYd IR g ws anil % o ok e, sifien, g onfg &
I T Fort g W Rifed! o W ¥ W §, Bl ik & S g

Q.No: 18 1 % 9 fr x1eg 1 WP Iudfary TTersr W =¥ foam v 82

A THIEAGS
B S
c YRS
D o

Correct Ans : C
Subject : Hindi Bhasha 02

Passage:

= R few T TR @Y uge g T Al & 9ed 3R SaR ad fdwed &1 999 Sifon-

SRR TR aeiRare & 39 uRI & g, SRgpfaw iR i dar Rmed or @ § ok ¥ fava & soe SRefa @f wig Tefa o & 7, o U dellaret aipfas amifemm
TR 7 UReRe ar-Ad wiitd wen ¥ e gEe-d o Yo @) air © 7 2 5 gEesi & dia TR ¥ e gurdiares c0ET THan ToR S X1 g | 5) sfd 9w g
Y vga o9 H faFe o foora R @1 T 81

fasme &1 sfery doffardt ¥ € = i 31 <Ui-01 dollaract wRar W ggar 1, Ji-f fawie o1 3awey o S1gAT ST s w1 o fawnas SifEw, ik, fom g, e, ek, enfe ¥
TR FRA GU IRAT T 3T Ug 1 §1 e whifa § AR adar Joi-shifa a gua! yfiie Fufas & 31 glaer weh § fF a6 3w & onffes, wmmfois, Iomfas @ SReiis SoM-u
¥ 3R oRa ®) a¥E WYT g1l 6T 31 1S U TR Ui & e Jaril 1 9era 7 # famnee wad v niodifiargul S aear o w91 € SIR 59 T Srgurd # ol ) urll @1 oRE Ser
ST 3T 8, S ogura # axgeli B St +ff gl o ¥ 81 3 &) e e 1 Ol oo et el <1 W €, 99 He Y 31 S O 3 Fare o 9¢ W81 § 9 e Hew ol & it
qd i PR et o ¥ 81 e woigd ot Rufa 31 df e & 7| S men o F i A RN TR § e 3 el 7 ues @ §, S3 1 @ et sl aRefaw i ot
Tt o X1 B ol fasraia <= 7 onfifer frasm, armifore famifomt qur I Uovdt IR WaR &7 dia He¥ g1 © | Jayd IRt giaumd 9 aril & U9 iR T, siflier, o sife
Ia= IR HoTt gudt Rw Rimedt 1 W@t €1 wee §, fsie s @ S

Q.No: 19 ITIE TR & SR, Yofdl: T HU BT 90 BIfeTL-

A - gUfaTdt WRar W ggar T, l-af oo &1 ey off Tear - st e Sifen, Ry, for e, A, e, onfe § TR F 8T Sk O o ug B

-t oflare} WA W Tgar T, Wi-at O o1 ey off ST S agwar T | 1929 X @ fagrm a1y, fify, e e, YR, wexsm, oife ¥ 9k wRd §U $eAe 99

S Ug g

c gﬁ-ﬁmwmmw,ﬁ-ﬁﬁwmmeWWWIanaﬁma’@%n, Ry, fRer gz, YR, gRex, o & 9w IRa g Sexie aw o ugodt
I

b g&f—@ﬁyﬂmﬂmﬁmmﬂ%ﬁf-ﬁfmmmtﬂm@mmlmwﬁ@%n,m,ﬁaw,m,m@,mﬁwmgqmweﬂﬁm
I

Correct Ans : C

Subject : Hindi Bhasha 02

B

Passage:

&z - feT 1T TR Y dea U@ U AT & 9eY IR SaR aid 9] &1 999 Sifo-

ISR 3R dNRAIG & 39 URaR § Graifords, TRgfoe ok i 9t Rimed o & € iR © fxa & aoie 9pia &1 918 eI o 38t 8, O O §oflardt uigplos amifoe
TRl  URRS a1a-Ba RIS & R gEa-ai &1 o @ aifved 8 7 2 379 gEeel & dd R & R gukiees ahe! TEEE ToR S 361 8 —ReE | R ik 7@ FRied
I uga 5 § famoe v feoa Ry 91 @

o @1 3fagma dolarch § € I i 1 <Oi-t dellarest tRaM W ol 1, -l fOgE o1 ey ot 3/ o1 searar i oo fasmae @R, fufy, R geon, e, gresi, onfe ¥
|HR B gU SeXC O ol UgdT g1 SN Hifd § Ao adam ga1-wifd a@ su@! yfie! Fofas w81 sfaem wieh § & o 33 & onfife, amifoms, Iomfis 9 sigfis SeiM-ua
T 39T o 31 ORE WIS Sl X6T o) STe Uah aRW Wi & 9y Sa & 91T 31 § o e ue wfoifirargef SeinT sar o YeT § SfR 5 o ergurd # e &1 Uil 1 e Sern
T 36T B, I argura § aegell o Bt off sedt o ¥ €1 3aen & 7 e ) §oft o wrelt F e o <@ €, 99 mer il o) sai @ 9 sade ot g 3 € o) e Hew ol ¥ uidt
A o PR Rawedt o ¥ &1 Fe ol 9 R &1 @ e @ 1 o= ner ol & Al A R R @ REn Y Ul 1R uws <@ 7, St i 3 Se sl wikefasw et oft
i o 3 71 o el 3= A onfife Rserm, wmioes faimfaat gur I el IR Gak B ad He91 W81 81 Tayd IR gl e il & o ofR TR, affen, puior o &
I IR FoTt gl R Rimedt o1 8 81 e ¥, fadiel fgws @ v

Q.No: 20
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SHI T & AR, sfoer wal § fF [ dw e T ARPP SUF-UaH F ORI SRd @1 g T gl <1 1

A Faq oiffe

B Faa e

c Faq ToARE

D iRfes, THIRE, AeE

Correct Ans : D
Subject : Hindi Bhasha 02

Passage:

3 R few T T @Y ugeR g T Ul & e 3ftd SaR 9 faded &1 999 Sifon-

ISP 3R dIRAIE & 39 uRkaw § gmifore, igpfas ok Wrifie dam Red o <@ ¥ ok 9 faxa & o dpla @1 ois Tewifa o 38t 3, O U doflardt aiplos amifore
el B uRRe ara-Rd R B9 & e JEe1-dEi o1 o o @i 812 T 2 39 gl § g R ¥ o gudiaes sl TEHn ToR o 361 R[5 | &R @t 96
9 Ugd T H ORI oo e Rig S @i gl

foRoe 1 e doltardt & @ I S 31 S-S dellaredt Ram W ag T, -l AR 37 ey W S 37 seadt w1 S faqe difd, i, o wgsn, e, e, oy ¥
TR A GU SCIAC TP 3 Ug el 1 SIS wifd T AP aaaH GaI-wifd 9@ guat Y Fufkes 7 31 siaem weh § i e 33 & snifes, amfee, Iemiis 3 Sigiis SM-Ua
 fagT eRE 31 TR TG Tl Y61 ¢l 3 T TR WiaaiiiaT I T Sarll &1 sl o # a9 Wd Ue UiaaiRiargel SenT a-ar o 361 § 3R 59 o Srurd ® ol &) Urit 31 g Sern
ST 35T 8, I 3 A gl It aimd ot weeh o @ §1 ga € 2 fxa a9 ot o gl B Ramed) o7 <@ R, S5 Aw @l @) BaiT WA 9 warg ol 9g 3@ ¢ ik e Ae o % il
qq ol PR et o ¥t @1 e weigd ot Rufa &1 df e € 1 I wer o & il B R TR § e 3t dela 1 ues @ R, S vfa @ Aot sl aiksfaw i ot
Tt o <) &1 o erasiia 3 A anfie RiosmH, g fadufat aur Ty tedl W TR @f sied Hs3 361 81 Jayd 9 g a0 il & ae ik T8, aifie, oo onfg &
I IRt Polt gust R Ried o 38t §1 wree §, fagie! fgww @ g gl

Q.No: 21 T@IK “HR-UR I g T &1 e B 8 a7 arf g2

A S BT FTRA

B TERERI ST TG

C ST TD R

D Iid o1l B3 H gEl $ e B AT e Bl Angul

Correct Ans : B
Subject : Hindi Bhasha 02

Passage:

&z R feT T IR B UgeR U U U & ey Sid o 9K [aded BT 997 Sifer-

YHSHERT IR FIRATE F 59 TR & T, TRafaw IR imfas dimmd Rmed or 3@ § ik QX fava & s Wafa @1 g Tefa o 6 g, 5w ¥ doliarc aigplas amfeme
el # URRS aIa-2d R S % e Yaa1-a:i &1 hara @ ot € 8 7 2 37 gEeel & Jdid TR & R guddes ahe! THHE ToR o1 381 3—RwH | 8 wfd a@ HRiedr
9 159 1 # famo o fiore Ri S w1 81

formoe @1 3fier dollard ¥ @ = ar 81 - Uellaredt e W e T, &-f faeE o7 @y o S 3 agerr T S fase iR, iy, R g, e, oresi, ek ¥
TR TR §U SeAC o Sl Ugal 31 MEifie Hifd ¥ dax Sdum GE1-wild o sua yfiet Pufas 3 71 sfoem wieh § & fod 33 & onfife, amifoms, Iomfie @ Sipfis SuM-uaH
T o0 ot B a¥E TYT Bil Y67 & | 319 U TR Ui § T Iari 3 ggrar 37 § fagmen wad v nioaitiargul Se aar o <61 € ¢IR 59 o srgurd # o 9 Ul 3t okg Semn
T 35T 7, SN Srgurd 7 awgeil ot wind o el o %6 81 9 8 161 [z ot Ioit o a1t ® Rmed! o1 <6 ], 9o Ae @l o A @ @f warg i 96 6§ SR e v ol & uidr
s PR Rewsdt o vt §1 R wogll ot Rufa o o we @ w1e 1 3w ner o & il B Ry TR ¥ R @0 defa i uws 3@ 3, S i @ shet sl vl siffrar ot
Tt o <& {1 3t farita 3t 7 onfie RoeH, wmiive faumiaal aur Iy uwhal R Wk $T S8 He1 36T 81 Jadd IR gt s anil % o ofk e, aifkien, S onfg
IO~ IR Hott g8 e Rimed o1 W@ 1 e ¥, [gie s & S dh

Q.No: 22 ffufEd & 9 Y W &1 997 BIfie-

A SR
B 3fRIPR
(o kg
D [A6IGE

Correct Ans : C
Subject : Hindi Bhasha 02

Passage:

= AR T TE T @) YgeR g T U & el 3fd SR a1 fawed @1 9 $ifr-

YASTHI SR IRAG P 58 TRIW F IS, Fiephie SR s W Red) ST § iR R g & ToRs Wepld BT o Tewitd o W ¢, B3 Tl §ollar aieples Ao
RIS H UREORE Ta-29 RN S F RIC Gaar-oat o g @ afort 81 § 7?37 gaaell & g TR & g ueaes Rie! T6HH ToR S 61 s—age | 8 afed a% Fiedr
q uga o # fawm U fRarrd g g1 e B

o @1 3fagma dollarct ¥ € I & 81 S-St Yoltarest WRaM W gedr T, @i-l e o1 Wy o s 1 agarar e fasmae @i, il fom ggon, e, e, enfe R
IR BRA §U YeRAT I 3 Uge 1 S wifd § Aax adam emi-wify o et yfte Rufas W 2 siiem aeh § 7 i 3 & onffes, e, yomfds @ wielis Sum-ua
T FAQIO o @1 TRE WYad Sl g1 § 1 SIS U R Uil & T Sl &1 dgral o § Ao @ uer uioifargel SeinT a1 o <e1 § ofR 9 oy ergurd & o &) Ut &) oRe Jgmn
ST XET 8, St ogura F axgell ot Sit off Fgch o ¥ §1 3o & i foxa 1 Ot o gt A e} <1 <& €, 9= wer il &) Sai @ @Y Hae ot 9 3§ ofR P wen ol & it
o oA PR faaed) o1 € %1 fda morgd 1 Rl &1 o ween € e I A ol & dnil A R wR @ ey 91 Wafa i uws @ R, St i @ St el wivwfas eiflyar oft
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i if==y Veimi= 1 ¥R PRRR AR I M e VA AT TR e R

S 0 WRE NS e T Y RO

i A

et o % R mmzﬁﬂ%zﬁﬁsm%ﬁ%m mmmammwwmmmmw%la@wﬂgﬁwwm%waﬁm SfRre, Fumor ofg &

I IR HoTE g G Rimed o W6 31 W 8, [siEl s 1 8 €

Q.No: 23 F=fafad & | F-T1 I SUGH $RE B Te! IR 37
A Rrerd 7 W P 9@ TR

B Wie 7 Higd S AR

c ST T I 9 =

D T e B 96 31

Correct Ans : C
Subject : Hindi Bhasha 02

Passage:

A SIoi & UgaR U MY URAl & 9ey SfUd SwR a1d fadey &l T Sifor-

1 gew 7 fouer R dg A

e o1, O & wR O 3,

FUEl 3 HeER AYR ! GAHT,

IR wa waeR, § Hier §8 &
TR R Rl § TP 7 3P Fel,
sar firgt 7 7 o o T e
I O Pl e, F9 YF 81 M

# gan €, e siigd el o @,

G HAN F ISP Uigg B

H ariier o, #7 e i S 9,

T BT AT T, 00 S W o ?

Q.No: 24 Iufed UK 3 AR &1 7 dEe-
A BRI

B TR Rig R

C i Bt FRiar

D gitEre ua

Correct Ans : D

Subject : Hindi Bhasha 02

Passage:

1 ST B Ug@R Y MY WAl & el 319d 3w a1 [Aded B 9 Siford-

1 geu f forex T 9w &

e o1, O & wR U 30,

FRIT P AR TR GO GBI,

IR Bd BawR, | el 96 Tl
TR SR Rl F TP T $igR B,
e frdt 31 71 v i O e
U W Pl e, B Y g

IS Bl P TP UiaS Rom

H oy o1, 7 e i e A,

THAT 1 AT 4T, JOO 1 e of ?

Q.No: 25 ITa Uil & SR, a7 w9 # T B o U

A B3 3 590 ¥ fueR Fo fed gu e

B B g9 # U F7 FR A R A

C F 7 g9u # U o Red T A qa Ru 2
By I Fau & fyuas oo U T foe A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

6/50
Page - 6



fimt=y Velmi= b EFE e Mg M M e Bt

D

Correct Ans : C
Subject : Hindi Bhasha 02

Passage:

T By B TEER U T uHl ¥ Iad SR IaR A Reed ST 9 SiRi-

1 gew 7 RoueR 9§ 2

[T o1, T & wR O 8,

TG Bl HAGR TR BES @D,

IR B@ Baaw, H el Yo Fmi
TR FSR Rl # U 7 3igR e,
e gt 3 =1 ue off T v
TR 9 Pl e, F YT g M

¥ gara g1, wIe Sigd1 31 il 0@,

IS eI F g vids STy

# oy o1, 7 e ol g 9,

HHAT DT AT AT, TN 1 Gian oT ?

Q.No: 26 Iuded Ukl & SFIER, HiA A HF sawn § oo fiad ol § qar iy &2

A TaT aa

B Sy ST
c WgraRT

D ST TR

Correct Ans : B
Subject : Hindi Bhasha 02

Passage:

3w STy ) UgIR UP ML Ul S G99 S SwR A1) [Ided &1 99 Pifow-

3 gew & fouaR T e 2

e, B & w O i,

Tl P HeaR HYR BH @A),

IR g Bowx, H Hiel Yo S
IR §SR Rl 7 U 7 SigR Ge,
der gl 7 7 v i T e
U o el e, 9 4 g T

H g €, 91 Siiedl @1 o 7,

T e P AP Ui HBTHR

# oy o1, #9 7Teq oo 9 g,

T Y AT T, O Y o ?

Q.No: 27 P ¥ dqon i of T 2

A Ecat
B T
c T
D Eisl

Correct Ans : A

Subject : Hindi Bhasha 02

Passage:
FIERT: FTOHR $1 Ugax U T U] & a4 ST Saik a1 [aded $1 99 Bifoe-
7 g A foua T8 S &

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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i if=T=y veimdi= ¥ PRRA AR eV AT T I e s R ean - v

et o1, T8 & Wi U S,

TR Bl HAGR AR B GAD I,

IR gor wew, | Her Js T
TR §OR 4Rl # T 7 3P e,
o1 gt 3 = o +ff T e
U S el i, & @ &1 Il

# gar €, ae Sied w1 ! 0,

T F & 0D UlaS B

A ar@ly o1, 8 e i €Y 9,

AT I AT YT, O B G o7 ?

Q.No: 28 fmffE & I Y= veg &1 997 BIfome-

A e
B FHAH
C e
D 4R

Correct Ans : D
Subject : Hindi Bhasha 02

Passage:

IR PIIR $1 Ugas U U TRl & Ga4 STd Ik Al [adbed T g Bifoe-

3 gera A RuaR TR S

< o, 491 % mR s i,

T P AR AR B GBI,

3R BT Badx, T Al 96 S|
TR §OR Gl H TP T g} e,
e gt 3 =1 oo T e
U O &gl e, &9 4d g1 Ul

# 5w 7, 9 Siiear @1 o e,

I FI & AP Uids fNsex

# oy o1, 79 e e e g,

THT 1 AT 4T, JOOT BT i of ?

Q.No: 29 QifEa ™ a1 AT WieT A WA 1 71 Q97 &1 7 § J 71 3 32
A T € HHSIN B o S aral 6 9 O

B <t & ol STeRe B Tee
o SREHT WY TB
D Tt 91 &1 e o, [k 9’ A

Correct Ans : A
Subject : Hindi Bhasha 02

Passage:
w1 Broiw ) TR I T U & Gad SRid SaR a1d fawed 31 9 BiRm-
3 gew A fouaR W g 2
gt o1, 99 % wR g 3,
T B FAGR TR B GBI,
IR BT Bax, ¥ el Yo T
TR §oR &Rl § TP 7 3R Fel,
o it 3 7 7 o e S
U3 o @gl e, w9 4@ g
# g g, 9e st @1 o @,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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IS HI & 3AH Uids s
# 3@y o1, #7 ed oW | g,
AT B AUl T, G0 1 diEr o ?

Q.No: 30 9/ "I ¥ HRA 3 3R & o e & ¥ w Tsg &1 99 @ifone-

A forften
B LG
c it
D foratar

Correct Ans : D

Subject : Hindi Bhasha 02

Q.No: 31  What should come in place of the question mark (?) in the following question?
2466878
17 x 9 + 317 + 25 =162 + ?

Fafifed oy & nsaes g (2) ¥ WA R |1 3 ARk

17x9+317+25=162 +7?

345
A

345

382
B

382

333
C

333

324
D

324

Correct Ans : C
Subject : Mathematics

Q.No: 32 YWhat should come in place of the question mark (?) in the following question?
2466939 (4316  (1849)2 + 79507 = 437

FrferRam war o werEmae e (2) & wam O A st =nee?
(43)% x (1849)% + 79507 = 437

7
A

7

8
B

8

5
c

5

6
D

6

Correct Ans : A

Subject : Mathematics

Q.No: 33 What should come in place of the question mark (?) in the following question?
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/50
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2466950 - 86 x 24 + 354 =?

Fafafea uy & usares fog (2) & M R T 8 ARe?

-86x24+354=7

-1580
A

-1580

-1710
B

-1710

-1840
c

-1840

-1560
D

-1560

Correct Ans : B

Subject : Mathematics

Q.No: 34 The product of three consecutive even numbers is 4032. The product of the first and the third number is 252. What are five times the second number?
2467172

f FAFIT G0 JeTsh 1 UAHT 4032 31 Uge 3R SN W 1 qOAHE 252 1 GOl SRS &1 Ui 1 1 82

80
A

80

100
B

100

60
Cc

60

70
D

70

Correct Ans : A

Subject : Mathematics

Q.No: 35 The length and width of a rectangle are in the ratio 4:5. If the area of the rectangle is 8000 cm?,
2467526  finq irs width?

T ARG B daTs 3R TIST P 3FUKT 4:5 31 Al 3Ta &1 &% 8000 YHR §, T 39D

EISERIGE T
145 cm
A
145 I
100 cm
B
100 I
205 cm
C
205 I
D 96 cm
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/50
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96 it
Correct Ans : B

Subject : Mathematics

34'107:73666 Ifx, y, z are all positive, find the value of xyzif ZX=x, zZ¥ =y, y¥ =x
Ul x, y, z T 1D §, Al xxyz PIAFA A PIGQ TS 22 =x, =y, y¥=x
4
A
4
842
B
82
1
o
1
2
D
2

Correct Ans : B

Subject : Mathematics

Q.No: 37 . s1
2467914 What will be the value of S05E ?

_S:s HTHFA I

6
A
6
5
B
5
18
7
c
1s
7
3
2
D
2
64

Correct Ans : D

Subject : Mathematics

Q.No: 38 When two straight lines intersect, then:
2468132
1. Adjacent angles are complementary.
2. Adjacent angles are supplementary.

3. Opposite angles are equal.

4. Opposite angles are supplementary.

W9 <1 e X vieye vl €, 9

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/50
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i if=T=y Veimi=

1. 3T DIV TF 8 B
2. 3R BV RS A T
3. G B0 SRER B
4. THE B0 R Bl B

2 and 3 are correct

B O A A e O e ™ W I N e ™ W B ¥ T T OEREE T T e ™

A

2R3 TNT

1 and 4 are correct
B

1 3R 4 T

1 and 3 are correct
c

19R 3 WY

2 and 4 are correct
D

23R4T E

Correct Ans : A
Subject : Mathematics

Q.No: 39 The perimeter of a circle is equal to that of a square. The ratio of their areas is:
2468219

% < 1 URHTY T o % URATT 6 SRIaR 1 3 & 1 3FUI §:

14:13
A

14:13

14: 11
B

14:11

25:12
c

25:12

13:15
D

13:15

Correct Ans : B

Subject : Mathematics

341‘2;24;)3 If the base of a rectangle is increased by 10% and the area is unchanged, the corresponding altitude

must be decreased by:

e T A & YR T 10% B g 1 Kl § IR &awa suRafdd Igdl 8, 4l WId $dls @1 &H

HET IR
10%
A
10%
11%96
B
11%96
C 1
9%

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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et ifmTmy Welmi= 2 7T Rt M M M . e Mt M
1
9=%
11

11%

11%

Correct Ans : C
Subject : Mathematics

Q.No: 41 If 2y - 3y + 12y + 10 = 21, then find the coefficient of y is.
2468359

g 2y - 3y + 12y + 10 = 21, Al y B OIS F1d Hiogl

11
A

11

12
B

12

o]
C

o]

1
D

1

Correct Ans : A

Subject : Mathematics

Q.No: 42 Mathematical proposition are

2468629
ol R @
Always true
A
AN T
Always false
B
T S
True as well as false
C
T IR S
Either true or false
D

QA T € U1 A
Correct Ans : D

Subject : Mathematics

Q.No: 43 A housewife buys 102 dozen of banana and 85 dozens of mangoes. Find the ratio of banana to mangoes.
2469675

T RN 102 <o HA IR 85 ol S WG T B BT 3 F UG G B

3:11
A
3:11
1:9
B
1:9
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/50
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o) 5:6

6:5
Correct Ans : D
Subject : Mathematics

Q.No: 44 pinq the value of (4m + 9)(—4m? + m + 3).

2469944
{4m + 9)(—4m? + m + 3) &1 HIF JId BiNE|
-16ms +21m +27
A
-16m3 +21m+27
-16m? - 40m2+21m+27
B
-16m? - 40m>+ 21m+ 27
-16m3 - 32m?+21m+ 27
C
-16m3-32m?+21m+27
21m +27
D
21m +27

Correct Ans : C
Subject : Mathematics

Q.No: 45 If the polynomial f(x) = ax? + bx ~ ¢ is divisible by the polynomial g(x) = ax? + bx + c, then what is the
2470009 41 of ab?

TS TGUE £(x) = axd + bx — ¢, TFUG g(x) = ax? = by + ¢ H AT §, T ab FTHA FTF?

1c
A

1c

-1
B

-1

1
C

1

-1c
D

-1c

Correct Ans : C

Subject : Mathematics

Q.No: 46 Find the ratio of diagonal of square to side of square.
2473344

it & 30l 1 & 3] Yo ¥ Surd 1 Piforgl

A 2:1

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/50
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2:1

VZ2:1
B
ﬁ: 1
1:2
C
1:2
3:4
D
3:4

Correct Ans : B

Subject : Mathematics

Q.No: 47  which of the following is not a method of teaching mathematics?

2475585
Fofafa # & $F 1 vgr 3t [ 7t 82
Heuristic Method
A SRR
Project Method
¢ o Ry
Observatory Method
¢ Sepsmren fafy
D Lecture Method
e fafy

Correct Ans : C

Subject : Mathematics

Q.No: 48 which is not the characteristic of a successful teacher?

2475589

TS 9%q e 3t S o fakvar T8 82
A Practicability

T
B Dedication

Partial behaviour

C
TUTAqU} TEER
D Self discipline
STH IR

Correct Ans : C

Subject : Mathematics

Q.No: 49 Which two numbers should be interchanged to make the given equation correct?
2479430
14x12+4-28+3=73

feu M TrfieRur & Ot SR & R o <) Semslt &1 smuw A Sger S 91l

14x12+4-28+3=73

3and 12
A

3R 12

4 and 14
B

43R 14

14 and 28
c

14 3R 28
D 28 and 12

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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28 3R 12

Correct Ans : C

Subject : Mathematics

Q.No: 50 Given interchanges: signs + and +, and numbers 3 and 4; then the value of 9 + 4 x 3 +2-5is
2481061

U M gexae (3 A gee): fE + R +, IR AW 3 3R 4; W9 +4x3+2-5FAAG

10
A

10

9
B

9

8
Cc

8

7
D

7

Correct Ans : B

Subject : Mathematics

Q.No: 51  Ppeer culture constitutes

2481337
............. T3 Pl &
A Socialization
B Individualization
Botha &b
¢ g ot i

None of the given options

v g g Repedl o A Y Y
Correct Ans : A

Subject : Mathematics

Q.No: 52 In the context of pupils with learning difficulties, which one is not a learning difficulty?
2481420

e 7 3 At frenfidl & weul #, 31w Wi 3 B T 32

Poor memory

A PHER T
Relatively poor comprehensive power
8 SUEIHd TR D e
Fail to transfer knowledge to the related learning areas appropriately
¢ e e 851 9 91 ot w0 § iR a1 v
b Lack of good books
3 A

Correct Ans : D

Subject : Mathematics

Q.No: 53  Which statement is incorrect?

2481680
B W DY TTad 82
Attitudes shapes our identity
A T Y T 1 S 2 ¥
Family has a major influence in the formation of attitudes
® <fon 5 Freor 3 e o gt e B &
C Learning helps to acquire attitudes
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/50
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g 2RI Bikia 7 J HeE el §

Attitudes can be changed by explaining and talking at all

o R T e R T Ta S wadT §
Correct Ans : D

Subject : Mathematics

Q.No: 54 The mean score on any class test is the result of:
2481755

ot ot wen 3T uten o1 Aed 3 g B aRom §:

dividing the sum of all scores by the number of scores

A R 1 5 Y T A e & R Y
determining the middle score when all the scores have been listed from the highest to the lowest
8 T TR P FuRke 9@ i R g I R o6 e e s
determining the most frequent score.
¢ i sy R R 1 P
5 Adding all the scores and dividing by the most frequent score

Tt 3fepY Y ST SR T 34 IR W B9 91 @R F Ry &

Correct Ans : A

Subject : Mathematics

Q.No: 55 A creative learner refers to one who is
2481827

T TS Riendll 39 wafdd ) defifa s g o

very talented in drawing and painting

A
SR 3R e 7 sga vfoqmed §
highly intelligent
B
Crnk it
capable of scoring consistently good marks in tests
Cc
TRl § TR 3 oI Ut A § W ¥
D good at lateral thinking and problem solving
o1 W SR T Y F ST

Correct Ans : D

Subject : Mathematics

Q.No: 56 Which quality is most important for students ?

2482335
B & R B 91 7701 Yo Agagyf 82
Hard work
A
HOR aReH
Obedience
B
STTHTRAT
Humility
C
EEEG)
Independent thinking
° T o

Correct Ans : D

Subject : Mathematics

Q.No: 57 Mathematics been placed on the top of curriculum because

2482359
T Y ureTs < R v T § i
It is a best means of intellectual and cultural development.
A
T3 S R TPl RHr B T ST A
It is the toughest subject.
B
Tg e BioA fawg 31
It is the easiest subject.
c
g T S fwg 71

None of the above

b TR A N

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/50
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Correct Ans : A

Subject : Mathematics

Q.No: 58
2482674

D

Under the topic, “Use of exponents to express small numbers in standard form”,
the following facts are stated:

(@) The speed of light is 300000000m/sec.

(b) The height of the Mount Everest is 8848m.

(¢) The diameter of a wire on a computer chip is 0.000003,m.

(d) The size of a plant cell is 0.00001275m.

The above examples are used to express each stated number in standard form. Use of such examples

fawg & dgd, "AHe ¥ # B Femsl B o A $ A urdie $1 9w,

FafifEa 9 an T §:

(T) w1 1 1T 300000000m/sec Bl

(a) AT TavE Bt $aTs 8848 WeR 7

() FHR 9 R IR FT AN 0.000003, HieR 71

(d) TF UIEU FHIRIST &I AHR 0.00001275m Bl 31

IURIad SETERU BT IUANT Ul AEE e &1 7S T & oJad IR & R & Sar 81 ¥ IereRuil 31 wanT

reflects the inter-disciplinary approach

SR~ IS RPN BN Gl &

is made in class to grab the attention of students more interested in science

T i of T arel BTl @1 A SR B & T wat F S o §
helps the teacher to identify the bright students
Rer 3 At B B UgaH T F Hag BT §

shows the accuracy aspect of numbers
TeT3ll HT gelddr Ugq @ §

Correct Ans : D

Subject : Mathematics

Q.No: 59
2482801

D

This is the type of test projectile methods of personality
I wffia ¥ oenr vadw e &1 ueR @

Questionnaire

TRt

Knowledge test

I wlem

Interview
TR

Individual history

Correct Ans : C

Subject : Mathematics

Q.No: 60
2482813

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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B

D

Pt o=ty W=t 8T8 PRI e R Rma At B e

Learn by intimacy

ST GRT ST

Learn by changing association
T ufad gr e

None of the above

A G S o

Correct Ans : C

Subject : Mathematics

D et

Q.No: 61 The use of methods that involve the learner's own initiative and effort is an example of-

2470364

3 fafrl &1 Iud fomd Rugmlf ot i 3t vga SiR TN Wi §, TP SeRu § -

Inter-personal intelligence

IR-3afe gfgma

Deductive method

T fafy

Learner-centred method

Rremeff-S i fafy

Traditional method

IR fafy

Correct Ans : C

Subject : Environmental Study

Q.No: 62
2470390

Project method was propounded by

e fafy & ot §

Kilpatrick

fraifits

Ross

v

Dewey

it

Froebel

Thieel

Correct Ans : A

Subject : Environmental Study

Q.No: 63
2470511

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Which is the most instructive place for geography teaching?

it g™ & o el RIemg RIF 19 91 §?

Home

W

Museum
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Cc Cinema

R
Market

CININ
Correct Ans : B

Subject : Environmental Study

Q.No: 64 The most effective method of solid waste management is;

2472173
O SuRTE Tee BT T purdt Tl 7
Sanitary landfills
A
et Fsfra
Source reduction and recycling
B
W & et SR G
Incinerators
c
&5
Vermi Composting
D

auff ST
Correct Ans : B

Subject : Environmental Study

Q.No: 65 Permanent loss of hearing ability from which there is no recovery is called
2472323

TR B amal o1 Wl Joar Rl $18 Read 781 1t €, Heard 8
noise induced temporary threshold shift (NITTS)

A

TR ARG St Ieiies RIRE (NITTS)

noise induced permanent threshold shift(NIPTS)
B

TR Ifva =l s R (Tremsdides)

noise induced peace threshold shift(NIPTS)
Cc

TR fva ifer s R (Tremsdidins)

noise induced preclinical threshold shift(NIPTS)
D

TR e MicaRed IR Rire (Temrdidny)

Correct Ans : B

Subject : Environmental Study

Q.No: 66 Out of the following option ,which is called the Indian rubber tree?
2472476

o e § § 58 YR 39S 98¢ Te1 91T 82

Ficus elastica

A
oy gafies
Grevillea robusta
B
Dfaferar Jawer
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C Ficus benghalensis

ray duiRe

Moringa oleifera

wifen et

Correct Ans : A

Subject : Environmental Study

Q.No: 67 Adolescent who faces identify crisis and poor self-esteem is offer caused by
2472565

freRTaw, R UgaH &1 e § ST 1 FHA] $ Ugdl 8, &1 HRU §:

Negativism
A

APRIAD

Underachievement
B

SH Iudled

Developmental Disorders
c

forees fieR

Early experiences
D

URRE Srgva
Correct Ans : B

Subject : Environmental Study

Q.No: 68 Fossil fuels are fuels because they release energy when they are

2473107
Sfaren $eH, $u € it 9 R Sl Blsd g
Cooled
A
seTER
Burned
B
e
Pressurized
c
<qa
Partially heated
D

i1 ¥ § i A

Correct Ans : B

Subject : Environmental Study

Q.No: 69 In which of the following method, grasses are grown, which are used to prevent soil erosion by intercepting rainfall, binding the soil particles and by
2473117 improving soil structure

fofafea 3 4 fa fafy ¥ ar s ot 3, forae Swd aul & oa &1 deaw, g} & il 3 divaR iR i) &1 a1 & guR ¥ Mgt & Fe@ &1 I F R o s g1

Afforestation method

A
TR ARy
B Mechanical method
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/50
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gifye fafy

Agrostological method

T fafy

Agronomic method

iy Gadi fafer
Correct Ans : C

Subject : Environmental Study

Q.No: 70 In which year was the Aryabhata launched?

2473885
SRHE IUTT BT TET f5E ay gan ur?
1970
A
1970
1973
B
1973
1975
c
1975
1978
D
1978

Correct Ans : C

Subject : Environmental Study

Q.No: 71 NASA’s small robotic helicopter “Ingenuity” is operating on?
2474018

NASA &1 BIel Jeifed FelieIeY "Sore!” e | &M 3 W1 87

Venus
A

REg

Mars
B

UG

Saturn
c

RUcH

Jupiter
D

ERAG)

Correct Ans : B

Subject : Environmental Study

Q.No: 72 Kuiper Belt is:

2474028
FIW AT B2
Beyond Neptune
A
AU F G
B Between Earth and Mars

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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gt $R e & =

Between Saturn and Jupiter

Y IR gewla & d

Between Saturn and its moon

T R IO W & S

Correct Ans : A

Subject : Environmental Study

Q.No: 73 The first solid rocket propellant plant of India is:

2474192
HRA 1 Teell 1 Iebe yuiiae ¥4 §:
Vikram Sarabhai Space Centre
A
fom Wt sfafRer (e wRrIg e Few)
Gravity Space Centre
B
Ty SRy Fg (A W Fev)
Dhirubhai Technology and Space Centre
C
e denfirt SR stafer s (feur 2earn T W Je)
Indian Space Centre
D

"Rt sialver % (3T T )
Correct Ans : A

Subject : Environmental Study

Q.No: 74 Which of the following is a space debris mitigation guideline?
2474213

fofifeT # § F1 a1 siafker Aaer e fRnfEw 82

Limit the probability of comet collision in orbit.

A
e WY F qHIG & THIA DI WU B QR HEAT
Maximize the potential for break-ups during operational phases
B
TR RO & R S&- 30 Bt HHET B Sifiead s
Limit debris released during normal operations
C
YR GG & SR Gad s Bt Wi S
Maximize potential for post-mission break-ups resulting from stored energy
D

Yol Sl & URUITRGEY UIRe- AR Seh-310 3 &l &1 Siftfpad R

Correct Ans : C

Subject : Environmental Study

Q.No: 75  Which of the following states is not benefitted from Sardar Sarovar dam?
2475738

ol 3 § S 91 I9 WeR TR diy § arfd 78 82
Madhya Pradesh

e WeR

B Rajasthan
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Maharashtra
c
HERTE
Punjab
D
L Eic)

Correct Ans : D

Subject : Environmental Study

Q.No: 76 Viticulture is the cultivation of:

2475843
fafweR (s1en HiY) frma Gt ¥2
Silk
A
L)
Grapes
B
SR
Fish
C
It
Flowers
D
k3

Correct Ans : B

Subject : Environmental Study

Q.No: 77 Which of the following soil is further divided into Khadar and Bhangar soil?
2475851

o # 4 $17 & ga1 TR ik HiR gt & R g2

Desert soil
A

e g

Alluvial soil
B

welg e

Black soil
C

et e

Red soil
D

et el

Correct Ans : B

Subject : Environmental Study

Q.No: 78 On which date is Children’s Day celebrated in India?
2476418

URd & 919 feaw fha ardia o HHmT S 22

July 21

TarE 21

B October 6
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ISR 6

December 12

R 12

November 14

aR 14
Correct Ans : D

Subject : Environmental Study

Q.No: 79 Who won the first IPL in 2008?

2476555
2008 ¥ Tga ST e ST
Mumbai Indians
A
Chennai Super Kings
B
7% IR 5
Rajasthan Royals
C
TSR aed
Kolkata Knight Riders
D

PRI g IFSH

Correct Ans : C

Subject : Environmental Study

Q.No: 80 Educational trips help in development of children in which of the following ways?
2477153

At yrur Frafefed 7 | frg veR | s ¥ R § ggHa #va 82

Reinforcement and Socialisation

A
YR SR SR I
Having fun only
B
Fq TS FA
Enjoying vacation
C
giedl &1 3 v #
Enhancement of characteristics
D

fadwarelt 4 gf A F

Correct Ans : A

Subject : Environmental Study

Q.No: 81 In Role playing method, one student poses as a teacher and the rest of the group are students of that teacher. This statement is:
2477178

ftrep1 e faftl 3, e o Ried $ w0 § Uxgd 311 § IR 16! Wig 39 e & 81 g1d §1 8 PUA 8

False, because a student cannot be a teacher

39, FifE femdf Rers 4 8 wpan

B True, because this method brings a change in taste in teaching learning process
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#Optio
w9 8, i ag Rl Ruewr e 3t ufssar § seaa o 8

False, because a student do not have the required knowledge

3, i BE b UIY S1a<TD T TEl &

False, because the students will not abide by a student

g, Fiifes femdf it faemdf o1 urem 5 w6t

Correct Ans : B

Subject : Environmental Study

Q.No: 82 "“The activities undertaken in a project should be useful.” This statement points to which basic principle of project method ?
2477217

"TE Ui § 3 TS fafafat w1 @t gF Aitel a8 S aREe usia & 59 gu Risid o 3R SRR w81

Purpose
A

Eic!

Freedom
B

AT

Utility
(o

S

Activity
D

Tfafafy

Correct Ans : C

Subject : Environmental Study

Q.No: 83 Which of the following are the forms of creative expression?
2477273

1.writing

2.music

3.puppetry

FofiEa # 4 FH wHe siftrefdd & T 32
1. fern
2. Il

3. Teygafedr

only 1 and 2

Faq 1 3R 2
only 2 and 3

Faa 2 3R 3

only 1 and 3

Faq 1 3R 3
1,2and 3

1,23R 3
Correct Ans : D

Subject : Environmental Study

Teacher's Rale shifts to more of a while nravidina auidance for a nroiect.
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Q.No: 84
2477328

T GRS ¥ T Anfeel vem oea ara Riew Bl yfier S ol

Friend
A

s

Facilitator
B

Riniica

Administrator
c

TS

Competitor
D

wfeandt

Correct Ans : B

Subject : Environmental Study

Q.No: 85 In the visits for learning, it is important
2477332
1.not to over stress on the educational part
2.to maintain an informal atmosphere

choose the correct code

ST R ymor ¥ g% Heayul § % -
1. AfeF {1 R 3fF SR T fear Wy
2. 911G B SIS @ S
REEIREeC]

1 only

Fad 1
2 only

Fad 2
both 1 and 2

M1 3R 2

neither 1 nor 2

a1 RTH2

Correct Ans : C

Subject : Environmental Study

Q.No: 86 A preliminary visit by the teacher to the proposed learning trip site is:

2477336
Rigie gR1 wefad s Y RE@ ST ARG R § -
Unnecessary
A
SIS
Wasteful
B
L 4
Cc Desirable
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Time consuming

qHg T arar
Correct Ans : C

Subject : Environmental Study

Q.No: 87 The phenomenon of heat building up inside a glass chamber from the absorption of solar radiation is called what?
2477889

IR fafar & oraivu & $i9 F e & oz i F fmfor 3 ge T 31 51 Fel 9 g2

Warming
A

e (aiffm)

Greenhouse Effect
B

FerSH THIE

Heat Absorption
o

T SraRiwor

Solar Absorber
D

IR faNyD

Correct Ans : B

Subject : Environmental Study

Q.No: 88 Which of the following fibres are man-made fibres?

2478018
fFofifEa § & o9 3 1 ge [ffa R §
Cotton
A
U
Silk
B
=
Wool
c
ol
Rayon
D
Reict

Correct Ans : D

Subject : Environmental Study

Q.No: 89 When was Wild Life Protection Act implemented?

2478625
Fiia e sfAfad e oy e m are
1972

A
1972
1975

B
1975

C 1978
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1978
1982

1982
Correct Ans : A

Subject : Environmental Study

Q.No: 90  Which of the following is one of the most structured tools of assessment?
2478704

Ffifed 3 4 $ orba & Fed Wiud Suawel § 3 @ 8?7

Published aptitude tests

A
TR T T (Thegs )
Project work

B
fEeH R (Hiviae 9%)
Quizzes

Cc
fés
Conversations

D

T (FEGIA)
Correct Ans : A

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn’t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster

of lost door keys, the hour badly spent.

The art of losing isn’t hard to master.

Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn‘t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn’t a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It's evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

Q.No: 91 Which of the following is the most appropriate title of the given poem?

A Life In Disaster

B Dying Flowers

C One Art

D Unacceptable Truth

NN T e e s 7 N e T Y
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Correct Ans : C

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn’t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster

of lost door keys, the hour badly spent.

The art of losing isn’t hard to master.

Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn’t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn’t a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It's evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

Q.No: 92 “Accept the fluster of lost door keys.” What does the word ‘fluster’ mean in this line?

A an upset and confused state

B surround so as to force to give up

C following or accompanying as a consequence
D an inclination to disagree

Correct Ans : A

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn‘t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster
of lost door keys, the hour badly spent.

The art of losing isn’t hard to master.

Then practice losing farther, losing faster:
places, and names, and where it was you meant
to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,
or next-to-last, of three loved houses went.
The art of losing isn’t hard to master.

I lost two cities, lovely ones. And, vaster,
some realms I owned, two rivers, a continent.

I miss them, but it wasn't a disaster.

NN R T g e R T N R
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—Even losing you (the joking voice, a gesture I love)
I shan't have lied. Its evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

Q.No: 93 What does the word ‘realm’ mean in the given poem?

A a kingdom

B an area of interest

Cc a sudden and complete disaster
D a mournful poem

Correct Ans : A

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn‘t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster

of lost door keys, the hour badly spent.

The art of losing isn’t hard to master.

Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn‘t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn’t a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It’s evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

NN T e e s 7 N e T Y

Q.No: 94 The poet says that losing something is no disaster. What does the poet mean when he says: ‘Even losing you'?

A the poet doesn’t care about his readers
B the poet talks about his family

C the poet says it in a good gesture

D the poet only care about his writing

Correct Ans : C

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn’t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster
of lost door keys, the hour badly spent.

The art of losing isn‘'t hard to master.
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Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn’t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn’t a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It’s evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

NN T e e s 7 N e T Y

Q.No: 95 In the given line of the poem: “None of these will bring disaster.” What things are being talked about here by the poet?

A doing the same things over and over again and hoping for different results
B getting bored and being upset about things

C losing your loved ones

D losing places and names

Correct Ans : D

Subject : English Language 01

Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn’t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster

of lost door keys, the hour badly spent.

The art of losing isn’t hard to master.

Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn’t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn’t a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It's evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

Q.No: 96 The poet lost his mother’s watch. What was the next-to-last thing that he lost too?

A his father’s diary
B three houses

C door keys

D his family

Correct Ans : B

Subject : English Language 01
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Passage:

Direction: Read the given poem and answer the question given below accordingly.

The art of losing isn‘t hard to master;

so many things seem filled with the intent

to be lost that their loss is no disaster.

Lose something every day. Accept the fluster

of lost door keys, the hour badly spent.

The art of losing isn‘t hard to master.

Then practice losing farther, losing faster:

places, and names, and where it was you meant

to travel. None of these will bring disaster.

I lost my mother’s watch. And look! my last,

or next-to-last, of three loved houses went.

The art of losing isn’t hard to master.

I lost two cities, lovely ones. And, vaster,

some realms I owned, two rivers, a continent.

I miss them, but it wasn't a disaster.

—Even losing you (the joking voice, a gesture I love)
I shan't have lied. It's evident the art of losing isn't too hard

to master though it may look like (Write it!), like disaster.

Q.No: 97 Why does the poet say that the art of losing isn't so hard to master?

A because losing your loved ones gives you unbearable pain

B because getting what you want is not always possible in life

C because people forget bad things easily

D because many things seem to be meant to lose in their own intent

Correct Ans : D

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 98 According to the given passage, which of the following statements is NOT correct here?

A lack of schools facilities is the main problem in South Africa for fighting illiteracy

B the staff employed in most government schools are unskilled and inefficient

C commercialization of education is also one factor that has led to the declining state of education
D Teach India is an initiative against illiteracy

Correct Ans : A

Subject : English Language 01
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Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 99 Why exactly does the Right to Education still need to be extended?

A because there are still illiterate children out there

B so that teaching illiterate women can also be made possible by doing so

C because it's been proven that the commercialization of education cannot provide the quality education to everyone
D so that we reach not only the children but also include the adult population

Correct Ans : D

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 100 Which of the countries is home to the largest population of adults who are illiterate in the world, according to the passage?

A India

B Bangladesh
C South Africa
D Sudan

Correct Ans : A

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
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write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 101 Leaving apart other countries of the world, why is ‘illiteracy’ a complex problem in a country like India?

A because there many issues which contribute to it including state imbalances

B because state governments cannot handle this problem

Cc because there is not foriegn aid for the people who want to read and write

D because the center government helps but corruption is the main key issue to it

Correct Ans : A

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. "Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 102 ‘There are 287 million people who are illiterate”.

Which part of speech is the word ‘illiterate’ in the given line of the passage?

A noun

B adjective

Cc determiner
D adverb

Correct Ans : B

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
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education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 103 What does the word ‘disparity’ mean in the given passage?

A a serious problem

B difficulty in understanding

Cc official acceptance or agreement
D a great difference

Correct Ans : D

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. “Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 104 ‘Although there is an achievement of increasing the literacy rate’.

Which part of speech is the word ‘Although’ in the given line of the passage?
A preposition
B adjective
C conjunction
D pronoun
Correct Ans : C

Subject : English Language 01

Passage:

Read the passage given below and then answer the questions given below the passage.

For uneducated people, an A is just three sticks. Being illiterate seems to be a curse in this century. Illiteracy is the state of being unable to read or write. India is home
to the largest population of adults who are illiterate in the world. There are 287 million people who are illiterate and they account for 37% of the global total. Even
though the literacy rate has increased six times since the British rule, from 12% to 74%, still the population of the illiterates is highest. Although there is an achievement
of increasing the literacy rate given the large population, however, it cannot be ignored that 1 in every 4 people in the country is illiterate and he/she cannot read or
write. Illiteracy in India is a complex problem with many reasons contributing to the issue. There is gender imbalance, income disparity, state imbalances, caste,
technological barriers which lead to the illiteracy rate in the nation. Another reason behind this problem is the inadequate school facilities. The staffs employed in most
government schools are unskilled and inefficient. Lack of proper sanitation is another reason for children dropping out from schools. Commercialization of education is
also one factor that has led to the declining state of education.

With the ever growing population, reducing illiteracy in India continues to be a challenge for our nation. Level of literacy and ability to attain education is the backbone of
development in a country like India. It enhances the quality of life, awareness amongst the population and skill levels in the society. There are steps taken by the
government to reduce illiteracy in India. In 1993, the Right to Education was incorporated in the Constitution. According to this, children have a fundamental right to free
education. But the Right to Education still needs to be extended so that we reach not only the children but also include the adult population of the country. There are
other policies and NGOs that focus on making the children and adults literate. "Teach India” is one such initiative. Its objective is to give a platform where the educated
people can teach the unprivileged children.

Q.No: 105 ‘Level of literacy and ability to attain education’.

Which of the following is opposite in meaning to the word ‘attain’ used in above given line?
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A fail

B effect
Cc realize
D score

Correct Ans : A

Subject : English Language 01

Q.No: 106 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

The sea waves came up her head and she started screaming.
A at
B above
Cc upon
D of

Correct Ans : B

Subject : English Language 01

Q.No: 107 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

He was enough to thank her for all the hard work she did.
A attractive
B gracious
C beautiful
D bad

Correct Ans : B

Subject : English Language 01

Q.No: 108 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

He gave a performance and made everyone proud of him.
A dull
B dark
C brilliant
D boring
Correct Ans : C

Subject : English Language 01

Q.No: 109 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

Many people like playing cricket, but my opinion it’s too chaotic.
A from
B with
Cc for
D in
Correct Ans : D

Subject : English Language 01

Q.No: 110 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

We had a very meeting - a lot of problems were solved.
A charming
B productive
o boring
D hollow
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Correct Ans : B

Subject : English Language 01

Q.No: 111 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

The smell of freshly made coffee made me happy.
A eager
B energetic
Cc delicious
D dull
Correct Ans : C

Subject : English Language 01

Q.No: 112 Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

She wanted a simple black dress, nothing
A gentle
B greasy
Cc ideal
D fancy
Correct Ans : D

Subject : English Language 01

Q.No: 113 Kohlberg’s and Piaget’s theories of moral reasoning when subjected to further research, it was observed that

A They underestimated children’s moral reasoning capabilities

B There is no relationship between level of cognitive development and moral reasoning
C They overestimated children’s moral reasoning capabilities

D They focused too much attention on children’s actions in a moral situation

Correct Ans : A
Subject : English Language 01

Q.No: 114 Which of the following is the domain of learning according to Bloom?

A Experimental
B Affective

Cc Professional
D Social

Correct Ans : B

Subject : English Language 01

Q.No: 115 A language teaching and learning has two main aspects- Expressing or Speaking and receiving and listening. Which principle of teaching English is mentioned

above?
A Principle of practice
B Principle of motivation
o] Principle of oral approach
D Principle of natural way of learning

Correct Ans : D

Subject : English Language 01

Q.No: 116 A teacher is making certain sounds with physical movement while teaching about a poem based on animals. She is using

A Total physical response

B Communicative language teaching
C Traditional Grammar teaching

D Direct method

Correct Ans : A

Subject : English Language 01
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Q.No: 117 A teacher should use which of the following ways to provide effective language learning to learners?

A Interact

B Assignments
C Silent reading
D Imitate

Correct Ans : A

Subject : English Language 01

Q.No: 118 What does BICS stands for?

A Broad Intelligence Communication skills
B Basic Interpersonal communicative skills
C Basic Intra-personal communication skills
D Bodily inter-personal communicative skills

Correct Ans : B

Subject : English Language 01

Q.No: 119 Two vowels sound that are pronounced together to make one sound are called

A Sight Words

B Diphthongs

C Lexical Words
D Function words

Correct Ans : B

Subject : English Language 01

NN R T g e R T N R

Q.No: 120 Rekha is very submissive, sensitive and well-behaved student. She actively participates in class discussions but is unable to do well in written class tests.

What should her teacher do to help her?
A Give her extra written practice with proper guidance
B Ask her friends to help her
Cc Snub her for silly mistakes to make her realise her drawbacks
D Ask her to take tuition in the evening.
Correct Ans : A

Subject : English Language 01

Q.No: 121 Mental development is not related to-

2473551

Development of weight and height
A

o SR $IE T o

Development of memory-
B

g #1 e

Development of decision making-
C

frrofa &7 2 e 1 forra

Development of problems solving capacity-
D

O G &1 & 1 ey
Correct Ans : A

Subject : Child Developement

Q.No: 122 Adolescence has been divided into
2473600

for study.
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ELACIE:
4 parts

IR YT A
6 parts

B: UM A
5 parts

Gig HAl

Correct Ans : A

Subject : Child Developement

Q.No: 123 What is the important agent of socialization in the age of childhood.

2473694
SR &I IH H AN BT Hg@yqul 9o 1 8 ?
Hospital
A
ST
College
B
HRifdETe
Market
o
qNIR
School
D
a

Correct Ans : D

Subject : Child Developement

Q.No: 124 How can studying individual differences between students help a teacher?

2474500

el 3 Renfial R sfad & F &M & Aeayy § i 16 @

it will help develop a competitive feeling among his students
A

T % ol A vioae| 3t e el s § weg

it will help him to devise the best instructional strategies
B

T I o wdAy Rieror Yoriferdt 3 Ao S F Wag e

it will help him in avoiding cultural conflicts
c

T 9 APl Ay § T A wag erht

none of the given options
D

faw e et & #E et

Correct Ans : B

Subject : Child Developement

Q.No: 125 Spare the rod —- spoil the child. This assumption is related to that type of discipline which has been advocated-
2474637
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RIS &8 7 3 W 7= 3R o TS WA €. 98 URun &Y SR ey wIRd gRI 1 T R-

By naturalist philosophy

A
weplardt 2 gRI
By pragmatist philosophy
B
GRS &= G/
In Victorian Era
c
R g arn
In Democratic Era
D

Qb T gRT

Correct Ans : B

Subject : Child Developement

Q.No: 126 A student begins to fear public speaking after being ridiculed by her classmates during a recitation exercise. In classical conditioning terms, her newly
2474658 acquired ‘fear’ would be due to a/an..

g & 3N % SR 207 JeuIfedl R 38 9 F 91¢ Th B AEu-d TU I 99 T SR Johdl ¢ | Faidd i & deuf §, IuH 71 'SR 0 / il sRuf A &
ol 81

unconditioned stimulus

A
3T ol SeteFT
unconditioned response
B
o el o
conditioned stimulus
c
F SRS
conditioned response
D

RiRReIGIED |

Correct Ans : D

Subject : Child Developement

Q.No: 127 In what way most children with behavior disorders similar to those with specific learning disabilities?

2475323
TS UG P & a1 T DY RE AR Feith PR a1l SRR = $4 BT 87
Both are almost always of above average intelligence
A
Sl T BRI PR A WA §
Both have a pattern of poor academic performance
B
Sl 1 Dl TeR e 3
Both have a pattern of high academic performance despite low intelligence
Cc
il # 51 g 1 F T1aeg 5= Neldis T FT TP dei v
Both have a pattern of low academic performance due to low intelligence
D

9 G2 T RO R &1 Qe we e d wH §

Correct Ans : B
Subject : Child Developement
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Q.No: 128 At the stage of formal operations, the child-

2476155

S JaTeHl & RO H, g1

Has learned to symbolize and attach labels to something in his environment
A

o ufdr & et it & Aee SR Wl Y T e A §

Reasons in terms of the dominant per-ceptual experience
B

THTIRITER I- SR ST ¥ Weifid SR S T §

Can draw valid conclusions from the experiments in a practical way
C

aRIiE Wi & T & 7 e P wad §

Has mastered many of the processes required in solving problems where there are concrete materials
D

et 3T A & el B g9 SR & R sfaaw uikanel § AeRd gikid oY ad §

Correct Ans : C

Subject : Child Developement

Q.No: 129 Socialization teaches the child

2476261
TR S B T R §
how to express his emotions
A
TR HTEISH P H T B
how to hide his emotions
B
ST UTETST Y B U2
how to control his emotions
c
Soft el P S Frifia %
how to adjust his emotions
D

SO HIETIST Bl Y AR HY

Correct Ans : A

Subject : Child Developement

Q.No: 130 A ‘progressive’ teacher should always motivate her students to

2476329
T gt Rier B e fenfidl S g IRka S A
ask all the queries they have
A
RECa R R TR
acquire knowledge of the content given
B
) T vy &1 I W B
interact actively in any discussion in the classroom
(o
T # it o == # qoRar § S %
participate occasionally
D

Ffi-erft
Correct Ans : C

Subject : Child Developement
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Q.No: 131 Interests are deep rooted constructs and are determined by the need structure of a/an

2476888
Rl el Wi A § ok B SaRgHd G gRT iR @1 Sl 81
Society
A
TS
Parents
B
Hrell - o
Individual
C
wfdd
Teacher
D
e

Correct Ans : C

Subject : Child Developement

Q.No: 132 Social participation is very important for a child. Is this statement true or false?

2476908
F 92 & forg gmfoe Hriier agd Aeayyf 81 98 HyA W@ § O Te?
False, as society has nothing to do with the school education
A
e, i G BT woel Ria A P -3 A R
True, as knowledge is socially embedded
B
&, i I I ¥ SiafiRa 2
True, as society directs the school about learning of the children
c
W, o 5 v o & Wi F 9k § Iga 9 e R wvar g
False, as society has an influence over the management of the school
D

T, T TS BT e & et W T9E ISl §
Correct Ans : B

Subject : Child Developement

Q.No: 133 Fear, love, passion and dislikes illustrate learning involving emotions and feelings. This type of learning is called

2476998
R, UR, T 3R 0T HI SR ra1e S i FRa §U U o1 9viF FRa §1 39 TSR 3t R B EREIE
Affective learning
A
Tt St
Concomitant learning
B
wead! it
Discrimination learning
C
g Siftem
Psychomotor learning
D
TR S
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Correct Ans : A

Subject : Child Developement

Q.No: 134 Interests are determined by which of the following?
2477026

1. Age

2. Need

Choose the correct code -

it fPofafea 4 9 feus gr Ry ot ord 82
1. 31

2. SR

e PIS BT YT X -

Only 1

Fad 1
Only 2

Faq 2
Both 1 and 2

S 1 8k 2

Neither 1 nor 2

AL eRAHR2

Correct Ans : C

Subject : Child Developement

Q.No: 135 Analyze the statements and chose the correct options
2477443
Statement (i): Immediately after birth babies begin to responses to different colors

Statement (ii): Concepts of weight are accurate during baby hood

YA BT AT X 3R T fapew g
P (i):579 & qXd dIC S SOT- e Tl R Uifthdl H T 32 &a &
B (ii): 997 S SR IO BT3GR Tl Bl &

Both the statements are true

M Py I €

Both statements are false

Bl B 3R §

Statement (i) is true and (ii) is false

YT (i) T 8§ IR (ii) ST 7

Statement (ii) is true and (i) is false

T (i) T § SR (i) SR '
Correct Ans : B

Subject : Child Developement

Q.No: 136 Child development is not consist of
2477470

frofafed & & oF o faer & e 78 ?
A Study of various stages of development and also the characteristics specific to each stage
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fra 7 faftrer sraer Sk wde =1 3 Ak fadrwarsh @1 e

Study that deals how the different situation and environment can effect on modify a behavior

B
FTER P TR A R R Ry iR wafawor $2 ma S1e 94 €, 57 W &7 e
Study of pattern of development
c
T & G a1 orem
Impact of socialization
D

ATHTSHBRUT BT THIT

Correct Ans : D

Subject : Child Developement

Q.No: 137 Development either structural or functional follow how many sequences?

2477598
e a1 &Y WIS 91 Srfad 3, fa SrmHT ST uIae ol 97
3
A
4
B
4
2
C
2
6
D
6

Correct Ans : C

Subject : Child Developement

Q.No: 138 X is a child who has a problem in moving from one place to another and particularly in climbing stairs. He approaches a school for admission in class VIII. The
2478070 (jassroom is at first floor. Which of the following actions the school should take?

X U 51 § O U T8 ¥ gol oie o & iR Wi Wifeai g & fegwd St §1 97 oiiedt e & yaw & o ue wpd T 1 P uga i | g1 Wpd o Aufafad §
J S G FRATE HA Fo1fU?

The school should refuse him admission as it was not a special school.

A
A P I VA 7§ T IR S A KM Ig IS AN TR G T
The school should shift the classroom from first floor to ground floor so that X can reach the classroom and get him admitted.
B
T Bl T B Ugeh WA Y i TR WM S DT @i Xwam ¥ uge 9 ok I8 W & 3 A
The school should agree to admit him on the condition that the parents of X will help him reach the classroom at first floor.
c
P 99 39 T R R F & R0 Ge0a $1 91T i X & Arer-foran 3§ veeh 1 R Fa 9F uger | Aeg S
The school should agree to admit X on payment of higher monthly fees so that the school can make arrangement to help the boy to reach the
first floor.
D

A DI SH TG Yoo & YTH R X DI W 31 & T Tg0d 1 91T aifs Tpd TS &1 Ugalt Hiid d@ Ugan Ho TEg &3 3 awll IR &1

Correct Ans : B

Subject : Child Developement

Q.No: 139 Which of the following is NOT true about mainstreaming?
2478396
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FrafaRea § § o1 9o1 R 7 Wi 8 & aR J 98 T 07

It is a way through which children with special needs are dealt with.

A

T8 T W1 it § Ford g1 Ty Sfiaadar a1t Sl & Y SHaER foal St g1

The special need children are given special training in this process
B

<9 fra # QY savawdr o o= o Rk wikveror o s §

This is done before the special-need children go to common school.
c

Tg AR SfTawaddl et Sl b WA B d | W4 U b S g1

After this process all children are sent to the common school
D

TG Wil % w1e Wt Sl ) i T § O foa o §

Correct Ans : D

Subject : Child Developement

Q.No: 140 Which of the following is most defined by Heredity?

2478907
Frafaf@a & § &1 srgafied g’ Fed sy ofenida 82
Emotion
A
Hia T
Morality
B
A
Intelligence
(o
L
Social skills
D

IR PRI

Correct Ans : C

Subject : Child Developement

Q.No: 141 Who wrote the book “I and thou"?

2479605
"1 TS TS " YR fba e
Martin Buber
A
AE g
Karl Marx
B
EaGkiGh
Aristotle
c
SR,
Sir Aurobindo
D

ot srfdfet

Correct Ans : A

Subject : Child Developement

Q.No: 142 According to the Multiple Intelligence theory of Gardner, which of the following involves imaginative thinking and visualization?
2479763
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Linguistic intelligence

A
s I (Rinfafes $efemta)
Spatial Intelligence

B
g e g (S 2Rt)
Logical-mathematical intelligence

c
Aibe-Tio e (ivrma-tuifera sefe)
Body-Kinesthetic Intelligence

D

IRIRE-Tiedg I (SiE-frafes $efudia)
Correct Ans : B

Subject : Child Developement

Q.No: 143 Which of the following is the Second stage of motivational cycle?
2480056

e # 3 P9 a1 sfiRures 9% 1 i w82

Need
A
STaRgH
Drive
B
3fete
Arousal
C
g
Reduction of arousal
D

EEGEK I

Correct Ans : B

Subject : Child Developement

Q.No: 144 Individual differences can be understood in terms of
2480091

I. Cognitive development of a child.

I1. Mental development of a child

I11. Physical development of a child.

AfTd FaNel B F we H W o Fhar §
I. §= 3T SIS AP

I1. =9 &1 AR fabre

111. T &= & IRINS far|

I and III but not II.

A
1 3R 111 A 11 T
Only I but not IT and III.
B
Fad 1 AMHT 11 &R 111 T
I and III.
c
1 3R III.
D II and III but not I
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1T 3R 111 A 1 7

Correct Ans : C

Subject : Child Developement

Q.No: 145 living beings have and experience emotions.
2480114
SHifad wroht g4 @1 3y Hea
Some
A
3
Rare
B
ot
All
c
Gicif
Lucky
D
FryraReht

Correct Ans : C

Subject : Child Developement

Q.No: 146 Ms. Seema always tries to design experiments or give real-life examples of concepts she teaches or introduces in class. This indicates that she is trying to
2480348 graw a connect between and aspects of education.

et e g AT @ SR SR A1 I SAYRUNSH & ARAia® Siar P IATeRl & B BRI B 5, Sl 96 P&l H R a1 TG Pl 5| T6 37 Dl ¢ [ a5 fian
¥ IR el F diuue ay R FA B PR T @ S

Intellectual, manual

A
R, Frommad
Important, relevant
B
Ty, e
Basic, important
Cc
T, Aewgt
Theoretical, practical
D

Hsifos, Fmasie
Correct Ans : D

Subject : Child Developement

Q.No: 147 Experiment of cat trying to catch the fish based on hit and trial method was performed by

2480669
BT 3R Tra BYS & MUYR R ASH UHs B HURI H ardl feedt 37w gRy faar mn -
Skinner
A
R
Thorndike
B
EIESIEES
o) Pavlov
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Correct Ans : B

Subject : Child Developement

Q.No: 148 Recapitulation is important because -

2480754

AR HEAY § ifh -

It establishes relationship between previous knowledge and new knowledge
A

75 ot I 3R 70 9 & e wey wf o

It is good way to summarise a lesson in the class
B

T B T ST FY Qe D T 3BT TP §

It makes learners more intelligent
c

T Renfifdt @ it afgwr gof & &

It is easy for a teacher to begin the class
D

Tg RIEE B B T3 TR  RIT 39 Sar €

Correct Ans : A

Subject : Child Developement

Q.No: 149 Learning process is enhanced by which process?
2480899
1. ICT technology

2. IT technology

SfftrTw uftean o e % g aftfa &2
1. M it
2. IS et

Only 1 is correct

Faa 1 9 7

Only 2 is correct

Faa 2 w7

Both 1 and 2 is correct

1R 23N TH e

Neither 1 nor 2

A 1LARAH 2

Correct Ans : A

Subject : Child Developement

Q.No: 150 Which team comprises of Anganwadi workers, Anganwadi helpers, Supervisors, Child Development Project officer and District Program Officers?
2482245

SIS FRidwdl, SiFETe! Teraed], Thaeet, a1 faer uRasm sfieR) wd R sriey sifiaial o e 59 &d o1 16 gl 8?2

WHO team
A
SeguEsh g
LINTCFF team
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e
ICDS team
C
ey <
NIPPCD team
D

TSR <o

Correct Ans : C

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 50/50
Page - 50



